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ENGLISH VERSION

Instruction : Figures to the right side indicate marks of question.

1 What is financial management ? Analise its objective
and scope in respect of prevailing situation.

1 Explain in detail :

(a)
(b)

2 Explain the concept of capital budgeting. Explain the

Agency theory
Risk and Return Trade off.

OR

process of capital budget and rationing of capital.

OR

20

20

20

2 ‘A’ Ltd. has a proposal for investment in which investment 20

Rs. 25,00,000 is to be made and estimated net profit

(before depreciation and tax) is as under :

Year 1 2 3 4 5
Annual Income (Rs.) | 14,00,000 | 15,00,000 | 10,00,000 | 9,00,000 | 6,00,000
P.V. Factor 10% 0.909 0.826 0.751 0.683 0.621

The company calculates depreciation 20% as per straight line
method. Assume that rate of tax is 50%.

Calculate the following:

(i) Pay-back period method

(ii) Rate of return on average investment method
(iii) Net present value method

(iv) Profitability index.

Explain in detail with example Net income approach 15
and Net operating income approach.
OR

(A) ‘B’ Ltd. furnished the following information in year 8

2018-19 :

Particulars Rs.

Fixed exXp. coooeeiiiiiieeeeeceeeeeee e 7,50,000

Variable exp....cccccovvveeiiiiiiiiiiiiiieee 50% on sales
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Sales units 10,000, per unit sales price ........ 300

Equity share capital each Rs.10............ 20,00,000
8% Debentures.........cceeevieeeiiiieeiiieeeiinnnnn, 10,00,000
Rate of income tax ......ccccooeeeiiiiiiiiiiiieeeeeeeeeninnn, 40%

Calculate the following :
- DFL
- EPS.

(B) Company issued 50,000 debentures at 9% interest 7
rate having face value of Rs.100 per debenture which
will be repayable after 6 years with 10% premium. If
expenses of debenture issued is of Rs.1,00,000. Find the
cost of debenture. (Tax rate is 40%.)

4 Write short notes : (any two) 15
(1) Voltar's approach
(2) Factor affecting to dividend policy
(3) Flexible dividend policy

(4) Corporate dividend behaviour.
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